4, GRAMMAR

GRAMMAR EXAM: In this part of the exam, you will have to use the verb to be AFFIRMATIVE:
(AM, IS ARE) AND NEGATIVE: (AM NOT -- IS NOT/ISN'T -- ARE NOT/ AREN'T) to complete a
text:

Here you have the verb to be to study again:

AFFIRMATIVE

Pronouns Verb “to be” Catalan Example
I (jo) am Jomoclioexic ﬁﬁf:” the school
Tonifug are s s

We (nosaltres) Nosaltres som We are students
arﬁ N l‘l] - Wearern the Englrsk class

osalires estem

You fres Vosaltres son You are my family

[\msal ) are v a“ o You arein your bedroom

osalires esten

They (elis =1l Ells/elles son They are my (riends

VERES are Ells/elles estan e '
NEGATIVE:

Negative

arenot |
is mot

is not

is not
arenot B
are not

' arenot |
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